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(1) Question no. 1 is compulsory.
(2) Attempt any 3 from the remaining questions.
(3) Assume suitable data if necessary.
(4) Figures to right indicate full marks.
Q.1 Attempt any four of the following Marks
a) What is subnetting? Comparc subnetting and supernetting [5]
b) ' ered pls? What is two possible [5]
¢) (3]
d) Li P reference model [5]
e) i i arity Hamming [5]
Q.2
a) coaxial [10]
’ \ optics
and twisted pair cables.
b) Explain how collision handled in CSMA/CD? A 5 km long broadcast LAN uses [10]
has 107 bps bandwidth and uses CSMA/CD. The signal t ng the
wire al /s. What is the minimum packet size that ca. on this
Q3 ‘
a) ted a block of addresses starti .71.0/24, [10]
organization want [ follows
I. First Group has 3 addresses
2. The second Grot eed 32
addresses.
3 The third Group has 4 household need 4 addresses. Design the
blocks and give slash notation for eachgsubblock. Findghow many
Eﬁglﬂﬁm; EwI b I O10) § 8 G
disadvantages of classless [P addressing scheme.
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Q4
a)
b)
Q.5
a)
b)
Q.6
a)
b)
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Attempt the following

Explain the open loop congestion control and closed loop congestion control
policies in detail

Explain the TCP connection establishment and Connection release.

Attempt the following

Explain the concept of sliding protocol? Explain the selective repeat protocol with
example? Compare the performance of Selective repeat & Go-back-N protocol.
Explain the link state routing algorithm with example?

Write a short note on followin
ARP & RARP
DNS
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